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Exam 2
L. Given that 3i is a zero of f(z) = 3z* + 523 + 2522 + 452 — 18, find all remaining zeros of f.
2. Find the complex zeros of g(z) = 42 + 42? — 7z + 2, and write g(x) in factored form.
3. Find k such that h(z) = z* — ka® + ka® + 1 has the factor = + 2.
4. Find all asymptotes of the rational function
J(z) = %

D. Solve each inequality algebraically, giving the solution set in interval notation.

(a) 2+ 2% <4z +4

®

(©) 21x_—x6 <9
6. Let

fx)=vz—-1 and g(x)=1+ 2>
(a) Evaluate (g o g)(—2) and (f o f)(82).
(b
(c

(d) Find f o f, and state its domain in interval notation.

Find f o g, and state its domain in interval notation.
Find g o f, and state its domain in interval notation.

)
)
)
)

7. If f(z) =32* -7 and g(r) = 2x + ¢, find the value of ¢ so that the graph of f o g crosses
the y-axis at 68.

8. Let

which is one-to-one.
(a) Find the inverse function F~!.

(b) Find the domain and range of F and F~!.



